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?fiR-q t S €it

M.M. : 150

srfuo-f,fl 3is, 1so
Note: i)Attempt five questions. All questions carry equal marks. Question number I is compulsory. Answer any
two questions from Part I and two questions from Part IL The parts of the same questions must be answered
together and must not be interposed between answers to other questions.
ii) In case of any discrepancy in the English and Hindi versions, English version will be taken as final.

;il-e :i) uia sed 6eT oir saft + 3i6 sara tt qed dwr r srFrqrd tr errur r * d qQA aeTr amr z *
d ced tnT 3rrE tr rto seq + traft sieil .nT 3crru E6 rrTeT tr u6 qea d sieil 6-r wr qst cea d 3ieil
d aq a d qrlt
ii) qR siffi a?i H Fd?"I fr +t$ FR{rft d, + 3iffi Fd-rr"r 3ift-fl ar;TT ErTEurr I

Q. 1 Write short notes on any four of the following

a) Objectivity in social science (4x7'5:30)

b) Emergence of Sociology

c) Manifest and latent functions

d) Ideology and social movement

e) Factors ofcontinuity and change in Indian society

f) Patrilineal and matrilineal social systems

Frqfrfua fr * fu-d qrg rrz ?iflerq ftHUft ftfud I

a) *aro Fdrd * aq ftwr
b)sfrrq elrer 61 3Eeftr

c) Il-der t'ti qleT q6d

a;fuunurer uti srarho 3{i-+d-d

e; arrr#+ saro fr sm{dr rrd qMa d on-o

j fuE*mao cti arCsarmo qreqrs 
I

Part -I (a+ro- r )

Q. 2 a) Distinguish between Durkheim's and weber's view on religion. (15)
sd A ert ai gtrd Ed +{n }m{ d ffi fr si?r* 61ftil} r

b) Discuss the merits and limitations of participant observation. (15)

s6a{rdft sffdts-d A gtil td #flI3fi of Rr}Ear oir
Q 3 a) 'Sex roles in family'are undergoing change. Comment with suitable illustrations. (15)

'sftEru d ftirr d*ol3il' fr qRa-da d co t r swgaa r<rf,rur is-r ftquft sffftil+ r

b) 'Socio-cultural factors determine economic development.' Comment with special reference to India. (15)
'srarfuo-eiqfts' orro snffo Fforff 6] hEft-d 6-{e E 1' $fTrir + fte}s d<af fr ft}+ar u* r

Q. 4 a) Highlight the specific features of Davis and Moore's theory of social stratification.. How far it is useful (15)
in the present context.

afs E?i q{ d r{rffrHs afto-t"r + ftr€id +t fre}u-.rrcfi rrt *FTeT srftilS r s-+ffrd qftierT fr q6

fu-s{ ?fi-nr ao sq+rft B I
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b) 'social mobility is difficult in closed society.'Comment with reference to caste system in India.

trq +rrrTcr fr snrrfuo qfreftffir sfu *ft ? r' enta qft qrfr F-{+eTr + dEef fr eq* dftr} r

Part -II (atror-z)

Q. 5 a) Compare the approaches to eradication of untouchability as propounded by Gandhi and Ambedkar. (15)
srs€fdr rqtrd eg aliff # Ed 3iA-s6-r + ffid ERaoM of ga-ar o-$ r

b) Discuss the impact of legislations on family in India.

'aTrgd fr #ErFs' crqErd d qBTr{ of ftil+at o-i r

(1s)

Q. 6 a) 'The constitutional provisions have empowered the women and weaker sections.'Discuss criticallV. 
115;

'eTria fr qfu gEr$ A e{rr&q saro * dTf,drtro qRada sTrql E r' FrGII olftr} r

b) 'Land reforms in India have brought in structural change in India.'Explain. (1s)

'S€rrF6 smqrd * atrmrctr ud o-fiqt{ aoif or serkoz"r Wfi B r' $arrdqzilc*rd sSeTI dH r

Q. 7 a) Write a short essay on the endogenous and exogenous sources of social change.

srarfuo qftT+d + 3{ffi+' eti sr{s orsol rrE trs' dlfiF fuiq ft@ r

b) 'Despite legal provisions discrimination against the SC/STs is still observable.'Discuss the deep
rooted factors in Indian society.

'fr86 sFrsrra di A Er< fr s-Eqfrd qrFrdr sr-E{frd q-+oftrq} + cft *seTrs s{aft eft Efuhi" frdr

B r' erru*q a-firq fr EeTrft-d apr orwil +t fr*+ai o-$ r
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